S$9 A R @T

'i('t,n"l -3\-(31,&'\ - (’, _}).{1‘ 1-_.,-') @}
i - 48— (S - a=10-27)
//{x ~wl - 3 A7 = 237 + A3,

ol = wec {ah..”%z . 7
L.) i 30 (7920 w6 2 - 55T 3. €)
55 <3 (94 +2) +60 (74 -3)
i =€ b -4 A -8 -39

//
& f_’&'rl- a%r + 7,*'_#



5_) 3~ 24 i/f.f” 3,43 420 =0k < +a

j—f‘? VY. -~ - A -2
.,3-'"' + 4 ‘ /..-.,?,' ) 3,..-'-51-‘! *-f,,-' =7 4//’;‘
/1--;2;. /f'f?,-f‘ X A A 4 S

-5 =S (4 +22,N = (3,4/9)
A




X ()2 s ok | -n: -9

2\ = (b2~ 20 -9 - O
\—r —)—
° 7

f

G«
2

Ly _
7 - j [(é%q)l_('fg'. _?)

-3,_0 * V (3,-2) +2. 19
Jd
~G=NR.rY 2.+
— T P T
-2,,.:‘ ‘3#.-34 2 = 3.;‘

€y T 34 -2 -2 =3/-Y9



T T

W ]
. . - | ,"dl.-ﬂ’t—-“"'\

' v (o L L = F

y | »w F~ F FoOF

L L\.;- I"_' b = e F-
XV L e ™ L 'y o
xve) | F F K L
T(ﬁru-l'i,rt\/ F r "~ "~ = =
".“/' [~ = L b f= /= b "
X vy A L~ L e ~ I~ ' »
T M| /= I (~ W I~ ~ =

| ELAT = S(Fuwe)d



SS9 oA (20-5) [(34r4)- 2 (-u)]
(24-YY- (3447 - 2. ¢§ )

(2¢ =) - ( 4 +42) T
~2 4244 =S4 -C€O X
-6 4 A . 4T
X

3) 7¢ £ -(qd" “2*‘;3‘(} - /(,r'?’ { ?4'].(‘1,.-?#\3
v (45 e2;) A 5 (Hata))
244 - (=% +4 7))

_Q“f - ?Z,f'

0/ = ae ¢ ém-. !’?f{t;) + T

-
L{



5) .24 ‘ /f/f 3.4+ 34 2 -2/ S—JA.:

£y

oA A4 A = -2
el A4 3-8 M 48 -2 s M
A-24 A+ 24 A4 Y T S o

| 2SS4 (-4 +22,)—~ (?fr'*l‘/f) B

A
--'-{'C) ‘-30.*. _ 3
2R T
| —_—
PR VLY = 27 ¢




(bi-u)-2 = 42/49 [-A24 -9

2-1 — (J'-LI)-?../();-.? = {A'-L"*tg;rhf
g W e \— f c'.?_ #3 rs
F’ of VA,

L=

b (a3

- 3,("‘9 j- [{3;-211 J/f',?,f't_z




M:f(.'r{ \.gt') f:bff:



Alx;y2) = 7(xa y.::_az\ ;((x—ﬂ) A"/)

£ E

o

< ¢

™

L

E(A] - ;(Q‘pﬁ];(g;‘,,—'\; (FLE.,-}I'

Boo(3 N Stwrs), (LiF)

/= /
“- (~r

"~ /-

“ b
.o

'3 ~
FwF]Si
AN (FAA)#



